Preverifica

Periodo 3 - UdA 1

Tracciare i grafici delle seguenti funzioni continue (eccetto che nei punti limite) in modo che non ci siano tratti

orizzontali

L lim f(z)=-3 lim f(z)=4 f(0)=3 lim f(z)=2 lim f(z)=4 lim f(z)=0 Ilm f(z)=+oc

2. f(=4)=5 f(=2)=0 lim f(z)=-2 lim f(z)=+4oo lim f(z)=+occ lim f(z)=+o0

3. lm f(z)=-2 lm f(z)=-o0 lim f(z)=0 lim f(z)=-5 f(2)=0 lim f(z)=—co lim f(z)=0
4 lm f)=0 lm fx)=-5 lm f(z)=—co lim f(z)=-+oo f(0)=3 xgmoof(w):—él lim f(z) =3
5. f(=4)=-5f(-2)=0 lm f(z) =2 lim f(z)=+co lim f(z)=0 lm f(x)=

6. lm f(z)=-2 lim flz)=-1 lim f(z)=0 lim f(z)=-o00 f(2)=-5 lim f(r)=—-co lim f(z)=-5
7. f(=2)=2 lim f(z)=2 lm f(z)=-3 lm f(z)=-1 lm f(z)=-co lim f(z)=4 Ilim f(z)=—oo
8. lim flz) =4 lim f(z) =-2 lim f(z)=-3 lim f(z)=-4 f(5)=—4 lim f(z)=+cc lm f(z)=-1
9. f(0)=0 lim f(z)=2 lim f(z)=-3 f(5)=—4 lim f(z)=+oc xggloof(w)I—oo

10.  f(=2)=1 lm f(z) =0 lim f(z)=3 lim f(z)=+co lim f(z)=0 lm f(z)=+oo lm f(z)=

1L f(0)=0 lm f(z)=2 lim f(z)=-3 f(5)=0 lim f(z)=3 lm f(z)=-2

2. f(=3)=2 lm f(z) =1 lim f(z)=—4 f(4)=—4 lim f(z)=+o0 lim f(z)=-1

3. f(=3)=2 lim f(z) =1 lim f(z)=-5 f(2)=-5 lim f(z)=2 lm f(z)=—occ

14 f(0)=5 lm f(z)=2 lm f(z)=-5 lm f(z)=0 lm fz)=-3 lm f(z)=5 lm f(r)=—0co

15.

lim f(z)=-3 lim f(z)=-5 lm f(z)=-oc0 lim f(z)=-3 lim f(z)=-oc0 lim f(z)= -1
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